
 

 

 

 

 

 

 

 

Q1 
How does Interpretation B differ from Interpretation A about the cause of the Reichstag 

Fire? [4 marks] 
Mark: 
 

WWW: EBI: 

L1: You identified a difference between Interpretation 
A and B using the content.  

 
L1: Pick out a difference between Interpretation A 
and B using the content.  

 

L2: You have carried out a developed analysis of the 

interpretations based on their content.  
 

L2: You need to fully explain how the differences 

are different based on content. 

 

Q2 
Why might the authors of Interpretations A and B have a different interpretation about 

the cause of the Reichstag Fire? [4] 
Mark: 
 

WWW: EBI: 

L1: You have identified why the authors might have 
different interpretations using the provenance.  

 
L1: You need to clearly state why the authors 
might have different interpretations using the 

provenance.  

 

L2: You have carried out a developed analysis of the 
interpretation, explaining the reasons for differences.  

 

L2: You need to carry out a developed analysis of 

the interpretation, explaining the reasons for 

differences using your own knowledge.  

 

Total Mark:  

EBI Comment: 
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